Exploded View

STRAIGHT GRINDER

MODEL TSG-5L

Parts List
Index | Part o Q'ty Index | Part o Q'ty
NO. | Number Description Req'd NO. Number Description Req'd
1 Y31127010| Valve Cap 1 25 |Y31124280| Bearing 6201727 2
2 |Y31127020| O-Ring S-14 1 26 |Y31124190| Rear Plate 1
3 |Y31127030| Valve Spring 1 27 |Y31124210| Spring Pin 4 X 12 1
4 1Y31127040| Valve Ball 1 28 |Y31124200| Cylinder 1
5 |Y31127050| Valve Pin 1 29 |Y31124250| Vane 4
6 |Y31127060| Handle 1 30 ([Y31124220| Rotor 1
7 |Y31126180| Spring Pin 4 X 28 1 31 |[Y31124260| Front Plate 1
8 |Y31127080| Pendanto Valve Lever 1 32 |Y31124340| Joint 1
9 |Y31127090( Push Button Spring 1 33 |Y31122300| Bearing 6001Z 2
10 |Y31127100( Push Button 1 34 |Y31124290| Case 1
11 |Y31127110| Rock Pin 1 35 |Y31124350| Shaft 1
12 |Y31127120| Rock Spring 1 36 |Y31122310| Bearing 60027 2
13 [Y3111903B| Screen Washer 1 37 |Y31124330| Felt 1
14 |Y3111903A| Net Screen 1 38 |Y31124320| Bearing Nut 1
15 [Y31119020| Air Inlet 1 39A [Y31124400[ Wheel Cover 1
16 Case Cap 1 39B |Y31124410( Wheel Cover Bolt M6 x 20 1
17 |Y31124060( O Ring JASO -2047 1 39C (Y31124430| Spring Washer M6 1
18 |Y31124120| Governor Set Screw 1 39D |Y31124420( Wheel Cover Nut M6 1
19 |Y31124130( Hex Nut M4 1 39E |Y3112440A| Wheel Cover CP 1
20 |Y31124140| Governor Spring 1 40 |Y31124360| Wheel Carrier 1
21 |Y31124170| Spring Pin 3.5 X 22 2 42 |Y31124370| Wheel Ring 1
22 |Y31124150| Governor Weight 2 43A |Y31124380| Wheel Nut(1) 1
23 |Y31124110| Governor Valve 1 43B |Y31124390( Wheel Nut(2) 1
24 |Y31124160| Governor Body 1 44 (Y31127460| Handle Washer 1



AutoCAD SHX Text
43B

AutoCAD SHX Text
43A

AutoCAD SHX Text
42

AutoCAD SHX Text
wheel

AutoCAD SHX Text
40

AutoCAD SHX Text
39A

AutoCAD SHX Text
39B

AutoCAD SHX Text
39C

AutoCAD SHX Text
39D

AutoCAD SHX Text
38

AutoCAD SHX Text
37

AutoCAD SHX Text
36

AutoCAD SHX Text
35

AutoCAD SHX Text
34

AutoCAD SHX Text
33

AutoCAD SHX Text
29

AutoCAD SHX Text
27

AutoCAD SHX Text
19

AutoCAD SHX Text
24

AutoCAD SHX Text
23

AutoCAD SHX Text
20

AutoCAD SHX Text
18

AutoCAD SHX Text
32

AutoCAD SHX Text
25

AutoCAD SHX Text
31

AutoCAD SHX Text
30

AutoCAD SHX Text
28

AutoCAD SHX Text
26

AutoCAD SHX Text
25

AutoCAD SHX Text
21

AutoCAD SHX Text
17

AutoCAD SHX Text
22

AutoCAD SHX Text
6

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
4

AutoCAD SHX Text
8

AutoCAD SHX Text
5

AutoCAD SHX Text
9

AutoCAD SHX Text
10

AutoCAD SHX Text
12

AutoCAD SHX Text
11

AutoCAD SHX Text
14

AutoCAD SHX Text
13

AutoCAD SHX Text
15

AutoCAD SHX Text
44

AutoCAD SHX Text
7

AutoCAD SHX Text
16


	シートとシート ビュー
	立体図TSG-5L-ﾚｲｱｳﾄ1


